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ENGLISH VERSION

Instruction : The right side figures of each question displays the marks.

1 Following is the information regarding October 2022 production20

of a factory:

Particulars Budgetary Actual

Production (units) 30,000 32,500

Hours 30,000 33,000

Fixed Indirect Cost (Rs.) 45,000 50,000

Variable Indirect Cost (Rs.)60,000 68,000

From the above details find out the following variances :

(1) Total indirect cost variance

(2) Variable indirect cost variance

(3) Fixed indirect cost variance

(4) Expenditure or Budget Variance

(5) Quantity variance.

OR

1 Shri Devu Ltd. provides the following information :20

Particulars Budget Actual

Working Days 25 27

Production Units 40,000 44,000

Fixed Indirect Cost (Rs.) 60,000 62,000

The fixed indirect cost rate as budgeted is Rs. 2 per hour. Hours

actually worked in October 2022 were 31,500.

Find the following Variances :

(1) Efficiency Variance

(2) Product Power Variance

(3) Calendar Variance

(4) Quantity Variance

(5) Cost Variance

(6) Total indirect cost Variance
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2 The Sales manager of one H. R. Company provides the following20

information for the month of October, 2022, regarding items X, Y

and Z :

Estimated

Item units sold Selling price per unit (Rs.)

X 2000 12

Y 2000 8

Z 2000 5

Actual Sales:

X : 1500 units, total selling price Rs. 15,000

Y : 2500 units, total selling price Rs. 17,500

Z : 3500 units, total selling price Rs. 21,000

Calculate the following variances :

(1) Sales price variance

(2) Sales volume variance

(3) Sales mix variance

(4) Sales sub-quantity variance

OR

2 Bhima Ltd. gets the following information: 20

Item Standard SalesStandard sellingActual Sales Actual

Quantity (Units)price per unit Quantity selling price

(Rs.) (Units) per unit (Rs.)

A 6,000 5.00 5,000 5.00

1,500 4.75

B 10,000 2.00 7,500 2.00

1,750 1.90

Calculate the following variances :

(1) Sales value variance

(2) Sales volume variance

(3) Sales Price Variance

(4) Sales mix variance

(5) Sales sub-quantity variance
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3 Prem Ltd. manufactures different types of machines. Find the15

production cost of ROZI brand machines from the following

information:

When (1) 4 machines are produced (2) 8 machines are produced.

Direct Material per machine.........................................Rs. 8,000

Direct labor per hour..........................................................Rs. 25

Man hours reauired for first machine production..................500

Rate of experience curve........................................................80%

Fixed Overhead Expenses :

- Up to the production of 5 machines...............Rs. 12,500

- Production of more than 5 but up to

   8 machines......................................................Rs. 10,000

Moreover when experience curve rate is 90% in application , then

thfind the production cost of 8 Machines.

OR

3 Explain the stages and importance of Activity Based Costing.15

4 Write short notes (Any three) 15

(1) Objectives of Cost audit

(2) Cost reduction and Cost control

(3) Characteristics of Cost reduction

(4) Financial audit and Cost audit

(5) Preconditions of Cost control.
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